
����� 2 

 

��	
� ��
���������������
��� 
 

2.1 ��	
� 

�����
�����	������ 

- ���������	
� 
- �
������������
�
 NaOH (������� !"#�$ > �&��	' 99) 
- ��"���	 MeOH (������� !"#�$�&��	' 98.5) 
  /����/0! :  ������"�234&��5�����"�6����&� 
 

2.2 ��
���� 

1. ���82�6���9���0��
 (Computer)  
2. B���C�4�9CDB��� 2000 ��		�	�0� (Flask) 
3. ��'���0�6B��� 250 500 K	' 1000 ��		�	�0� (Cylinder) 
4. �������
 (Beaker) 
5. ���82�64�26 �� (Digital weigh scales) 
6. �0��XXY� (Stirring hotplate) 
7. ���82�6����!��!\/]C�� (Temperature controller) 
8. ���82�6 Thin layer chromatography/Flame ionization detection (TLC/FID)  
 

2.3 ��������
��� 

2.3.1 �"�#$
	�����%���$�&�$�����'%(�����)�����$���*����������	����� 
   �����4�6��!9��#
"�234&K �6��6 ����"�2 1.4-1.11 K	' 1.14-1.16 

2.3.2 ����)�+(��,����'%('$	�����$�&�$��  

3���\�"�2��D��B&��C	 �4D� �D�����c!�����&�� (
p

C ) K	'�D������&��B�6����D�

���� (
f

H∆ ) B�6 ��0D�6d c'34&��#���'��\�D� ��6K �63�0���6"�2 1.8 
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2.3.3 �"�#$
���� (Algorithm) '$�����(	�����%���$�&�$�� 

 6����c�����34&��#�B�6�!6�6-�!00� (B�6���	�6 �2)  ��/������K�& ������!9��#
 ���e 
��6K �63� ���� 1.20 

2.3.4 9:�;�����
������*��<������������

=�����)�'$���
=���������<��$>��� 
���/� ]��'"�2 �/��' � ��/������f	�0��"�	 �� �0��
3�g�6�h���\


K��0D���82�6 "�2��0�����f	�0�������
	 6 	�0�0D���"� ���0��K��"�2"�����ij�k� ����6��� 
- �����	<�$�%��?��+������$���<�$@"���$
���� (Mole ratios) 
ij�k�"�2��0�� D���4�6��	B�6��"���	0D����������	
� 6:1 8:1 10:1 12:1 K	' 

15:1 
- ���#E,��+��
=�����)� (Reaction temperature, T) 
ij�k�4D�6�!\/]C��B�6�h������� 50-70 oC 
- �������	���),<'$���
=����� (Resident time,

m
τ ) 

ij�k���	�"�2 ����CD3�g�6�h���\
�8� 10 20 30 40 K	' 50 ��"�  
 

   
0

v

V
m
=τ             (2.1)  

                                          ���"�2 
m
τ  �8� ��	�"�2 ����CD3�g�6�h���\
 (min) 

                                                      V �8� �����0�B�6g�6�h���\
 (L)    
                                                      

0
v �8� ��0������/	�4�6�����0� (L/min) 

 "�2�� ����c�
 �!e��������"�� (2544) 
 

2.3.5 #�	E�������#���	�'$���*����������	����� 
���c'9�c��\�f	B�6��0�� D���4�6��	B�6��"���	0D����������	
� �!\/]C��

B�6�h������� K	'��	�"�2 ����CD3�g�6�h���\
 "�2��f	0D��D��&��	'������� !"#�$B�6��"�	�� �0��
 
K	'0&�"!����f	�0�������
	 ��6 ����"�2 1.12-1.13 K	' 1.23-1.25 
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2.3.6 �*$*��+��?
����� (Flowchart) K �6��6]�9��'���"�2 2.1 
 

 
 

 

 

K�& ������!9��#
 ���eB�6 
����!	��	 ��K	'�!	9	�66�� 

                     xi, yi, ti 
                     ti+1 = ti + h 

�	
�*� 

1. �����B&�B&�B�6 �� i "�2���c��g�6�h���\
 
2. 9	�66��"�234&3����"���h�������K	'K���	����"���	 
3. �����\��"���	K���	�� 

�����$����)���������$�� 

1. �����\�����\��"���	K���	�� 

2. �����\9	�66��"�234&3����K���	����"���	 

���/���D� ]��'���2�0&� (x0, y0, t0) 

�"qc 

c��6 

���2����K��� 

��	��&����D���	�"�2 ����CD
3�g�6�h���\
 (ti < tr) 

c����K��� 

]�9��'���"�2 2.1 Kf�f�6B�6���K��� 
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2.3.7 9:�;�����)�%�@$+������S��������������	����� 
  "�����ij�k����K��4���B�6�	��
���	K	'��"�	�� �0��
"�2��&c�����"��
�h�������"��� 
�� �0���Xs��4��B�6��"���	K	'���������	
� ���9�c��\�c��0��K��0D�6d "�2��
f	0D���	�3�������K��4���B�6��"�	�� �0��
K	'�	��
���	 �8� 
  - ��0�� D���4�6��	B�6��"���	0D����������	
� (R) ���"�����ij�k���0�� D��
�4�6��	B�6��"���	0D����������	
� 3 �D� ��&K�D 6:1 10:1 K	' 15:1 0��	����� 
  - ��0�� D���'/�D�6 D�� C6B�6 ��f �0D�B���� &�fD��iC��
�	�6B�6g�60�c� 
(H/D) ���3�6����c�����34&��'���0�6B��� 250 500 K	' 1000 ��		�	�0� (��'���0�6��B���
� &�fD��iC��
�	�6 3.8 4.8 K	' 6.1 �
�0���0� 0��	�����) ��5�g�60�c�   

2.3.7.1 �������)�$@"���$
���� 
���������	
�"�234&0&�6������j6����B����� �' (Free fatty acids) ���c���������

���"����� Preesterification �982�	������\����B����� �'3/&02����D��&��	' 1 �D������� CD���"��
�h�������"��� 
�� �0���Xs��4�� ���6����c�����34&���������	
����	���c����8����	
�"�2�������\���
�B����� �'3/&02����D��&��	' 1 K	&�  

2.3.7.2 �������)�	������)����$�� 
  ����0���� ��	'	����"���	 6����c�����34&0����D6�h�������4�����  �8��
�����-       
�������
�
 (NaOH) �����B&�B&��&��	' 0.2 �������/���B�6���������	
� 	'	��3���"���	 
��������\��"���	"�234&Bj�������0�� D���4�6��	B�6��"���	0D����������	
�"�2"���h������� 
K �6��6]�9��'���"�2 2.2 
j26 ������"�234&��5�����"�6����&��9��'/���&6D��K	'����gC� 
 
 
 
 
 
 
 
 
 

      ]�9��'���"�2 2.2  ��	'	����"���	����
������������
�
 
 



 

 

33 

 

2.3.7.3 ����"�
=�����)� 

�Y�����������	
�K	' ��	'	����"���	�B&� CD�h���\
K���' �������!�0��
K��"�2��f	0D���0����������h������� �8� �!\/]C��B�6�h�������K	'��	�3����"���h������� ��5�0&� 

j26���"�	�6���ij�k�"�2�!\/]C��B�6�h������� 60 oC K	'��	�3����"���h������� 40 ��"� K �6��6
]�9��'���"�2 2.3 

1. ���"�	�6��0�� D���4�6��	B�6��"���	0D����������	
�"�2 6:1 �0�����������
��	
� 945.05 	C���i�
�
�0���0� ��"���	�����0� 243.04 	C���i�
�
�0���0� K	'�
�����-    
�������
�
 1.72 ���� 

2. ���"�	�6��0�� D���4�6��	B�6��"���	0D����������	
�"�2 10:1 �0�����������
��	
� 945.05 	C���i�
�
�0���0� ��"���	�����0� 405.06 	C���i�
�
�0���0� K	'�
�����-    
�������
�
 1.72 ���� 

3. ���"�	�6��0�� D���4�6��	B�6��"���	0D����������	
�"�2 15:1 �0�����������
��	
� 945.05 	C���i�
�
�0���0� ��"���	�����0� 607.59 	C���i�
�
�0���0� K	'�
�����-    
�������
�
 1.72 ���� 
/����/0! : ����/������	�!	K	'����/��K�D�B�6 �� (]��f��� c) 
 

 
 
 
 
 
 
 
 

]�9��'���"�2 2.3 ���"���h�������3�g�6�h���\
K���' 
 

2.3.7.4 ����)�%�@$+������S���� 

f	�0]�\w
"�2��&c��g�6�h���\
c'gC��Y���B&� CDg�60�c� �982�"�����ij�k����K��
4����'/�D�6�	��
���	K	'��"�	�� �0��
 ���ij�k�0��K�� �8� ��	�3����K��4���B�6�	��
���	
K	'��"�	�� �0��
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1. ij�k���0�� D���4�6��	B�6��"���	0D����������	
� (R) ���������f	�0]�\w

"�2��&c�����"���h�������"�2��0�� D���4�6��	B�6��"���	0D����������	
� 6:1 10:1 K	' 15:1 �Y�� CD
��'���0�6B��� 500 ��		�	�0� "�2��&"�����B���'���������� C6B�6�	��
���	 ���3 D ��f �
����6	' 250 ��		�	�0� c������"������������ C6B�6�	��
���	"�2��	�0D�6d ��6K �63�
]�9��'���"�2 2.4 

 

               
               �D���������K��4���B�6�	��
���	             /	�6�������K��4���B�6�	��
���	 

2. ij�k���0�� D��B�6 D�� C6B�6 ��f � (�����0� 250 ��		�	�0�) 0D�B���
� &�fD�iC��
�	�6B�6g�60�c� (H/D) ���������f	�0]�\w
"�2��&c�����"���h������� "�2��0�� D���4�6
��	B�6��"���	0D����������	
� 6:1 �Y�� CD��'���0�6B��� 250 500 K	' 1000 ��		�	�0� 
(��'���0�6��B���� &�fD��iC��
�	�6 3.8 4.8 K	' 6.1 0��	�����) "�2��&"�����B���'����������
 C6B�6�	��
���	 0��	����� ���3 D ��f �����6	' 250 ��		�	�0� c������"������������ C6B�6
�	��
���	"�2��	�0D�6d ��6K �63�]�9��'���"�2 2.5 

 

                 
                  �D���������K��4���B�6�	��
���	             /	�6�������K��4���B�6�	��
���	 
 ]�9��'���"�2 2.5 ���K��4���"�2� &�fD�iC��
�	�6B�6g�60�c�0D�6���   

]�9��'���"�2 2.4 ���K��4���"�2��0�� D���4�6��	B�6��"���	0D����������	
�0D�6��� 
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 D��B�6 ��0��60&�"�2�/	8�K	' ��"�2����Bj���'/�D�6���"���h��������8� ��"���	 
�0��	��
����
 ���	��
����
 K	'�����	��
����
 �����"���	c'	'	����CD"��63� D��B�6 
��"�	�� �0��
K	'�	��
���	  ����gK����&������3/&�����&���982�3/&��"���	�'�/���� 3�
 D��B�6�0��	��
����
 ���	��
����
 K	'�����	��
����
 D��3/eDc'	'	����CD3���"�	-         
�� �0��
 
j26 ��0��60&��/	D�������K�D"�2c'K�����c����"�	�� �0��
 �9��'x'����c'0&�6����!�
�����\ ��0��60&�0��6K0DB���0�����"���h��������982�3/&�/	8� ��0��60&��/	D�����&��"�2 !� (��D�������
B&����/��B�6��0�y���������
	 ]��f��� 4) 

2.3.8 �������#�����	��&�$��+������)�%�@$��#�<������S��������������	����� 
  ���B&��C	"�2��&c�����"�	�63�B&� 2.3.7 /����� ��9��#
B�6���K��4����'/�D�6
�	��
���	K	'��"�	�� �0��
 �����0��K��/	�� 2 0�� �8� ��0�� D���4�6��	B�6��"���	0D�
���������	
� K	'��0�� D���'/�D�6 D�� C6B�6 ��f �0D�B���� &�fD��iC��
�	�6B�6g�60�c� 
�����0��K��0�� �8� ��	�3����K��4���B�6�	��
���	K	'��"�	�� �0��
 3����ij�k�/� ����
���� ��9��#
���K��4���B�6�	��
���	K	'��"�	�� �0��
 c'��i��/	����� Lease square method 
3����/��D��6"�2B�6 ���� ���"�� minimize ∑

∧

−
2

)( ii YY  K �6��6 ����"�2 2.3 /	�6c������
�����\/��D� R-square /�8���������482�/�j26�D� { ����' �"#�$B�6������/��| �982�K �6�D� ����"�2
��&�� ����gK"����� ��9��#
B�6B&��C	c��6��&����&���9��63�  
 2.3.8.1 #������
������<�?
)'%(�<� R-square                                                              

                 �D� R-square (�D� R-square: 0���	B0��6K0D 0 gj6 1 "�2K �6����3�	&4��B�6�D�"�2
��'��\�����&���� &�K����&�
j26 ��9��#
���B&��C	"�2K"&c��6 K �6��6 ����"�2 2.2-2.4 
j26g&��D�         
R-square ��CD"�2 1 /�8�3�	& 1 K �6�D�����K�D����B�6 ����"�2��'��\��&�D��B&�6 C6 ��������& 
 

SST

SSE
R −= 1

2        (2.2) 

∑
∧

−=
2

)( ii YYSSE       (2.3) 

n

Y
YSST

i

i

2

2
)(

)(
∑

∑ −=      (2.4) 

���"�2  iY �8� �D�B�6B&��C	c��6"�2��&c�����"�	�6 

                      
∧

iY �8� �D�B�6�����'��\ 
                         n �8� c�����4!�B�6B&��C	c��6 

               "�2�� http://en.wikipedia.org/wiki/Coefficient_of_determination 
 


